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Lesson Lesson Lesson Lesson 5555....2222        

    

Solve each equation by using the distributive property and combining like terms. 

 

1.  2(� + 7) + � = 20     2.  2(� − 1) + 3� = 3 

 

 

 

 

 

 

 

 

3.  3(� + 1) − 2� = 0     4.  2 + 4(22 + 3) = 15  

 

 

 

 

 

 

 

 

5.  X 
� �< + 2) + 3< = −1    6.  4(E + 2) − 2E = 0  

 

 

 

 

 

 

 

 

7.  4 + 2(1 + �) = 12     8.  X�� + 3) + �
	 � + 5 = 0 

 

 

 

 

 

 

 

 

9.  2(2� + 3) − 2 = 5     10.  2(3� − 1) + 2(4� + 5) = 8 

 

 

 

 

  


